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COMPUTER SCIENCE
( Honours )
( CS-501 T )
( Operating System and Introduction to LINUX )

Marks : 56

Time : 3 hours

The figures m the margin indicate full marks
Jor the questions

Answer one question from each Unit

unr—1
1. (a) Describe briefly a process address
space. -3
(5) What are system calls? Explain briefly
the read system call. - 2+9=4

(c) Five jobs A through E arrive at a
computer center. They. have estimate
running times of 9, 3, 7, 2 and 4
minutes. The arrival timé of A through
Eis 0, 1, 2, 3 and 4 Ijeﬁp_ectively, Use
the shortest remaining time next to
determine the turnaround time for

.. each job and the mean ‘turnaround
e, - e BT T 5
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2 .
(2) (3)
2. (a) Discuss
. the -
cause proces::;u; Principal events that 4. (a) Discuss the Banker’s algorithm for a
FCFS with SJ 0 be created. Compare | single resource. 6
(b)) What is (p) Why do operating systems like UNIX
~exclusion? l;‘S}’ waiting in  mumual : and WINDOWS ignore the deadlock
exclusion pro}’:f lam. how the mutual { problem? 2
variables, em is solved using leck ‘ . ' o
D4+4=6 {c) Explain deadlock detection with one
, ' | resource of one type. 3
UNIT— R
IT—II | B S
3. (@ What i | UniT—III
Is a resoug |
detecti rce? D ; :
etection and Tecove escribe deadlock ‘ 5. (a) Bring out the differences between the
) Gi B4 1+4=5 . .. following : | 2¥ax2=5
ven a t . . . ‘
type, ana°$eﬁft}1° Units of a resource (i) Pages and Page Frames
€ s |
(s,?(;ufdgchess P2 bet;::nihown below, | (i) Internal Fragmentation and
answer .monal resourceg? Ei:ﬁl;quest | External Fragmentation
| your | .
4 1 (p) What do you understand by page fault?
Process Used Mo Explain the function of a page table. prant
P1 =
2
S :
P2 1 6. (a) Explain on the function of the optimal
P3 2 6 page replacement algorithm to handle
P4 , 6 | page requests, citing with an example. S
: 1 |
2 .
PS 1 (b)) Compute the number of page faults for
> 4 the following page requests made of
the Least

three page frames using
Frequently Used Algorithm : 6
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{¢) Explain on de
attacking the
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adlock Prevention yg;
in.

iy .
0 preemption condition. 2
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(4)

UNIT—IV

7. (a) Explain the three
(b) Bﬁng out the di

() What is an i-node? Explain

8. fa) Describe the vari

) Explain any four goals of 1/0 Software,

levator Disk
. 4

(c) Write a short note on the g
Arm Scheduling Algorithp,

UNIT—Y

9. (@) What'is the difference between c

and cat » axt? Give the ’ :
chqu cominand, Vntax of

3+2=5
(b) What do you understanq p,, ...
Substitution jn UNIX? Y commang

(¢) Explain the use of ¢
Pattern Mmatching. Giye

20D/163

at a, txt

aracter cla

S8 in
an e

(S)

HO (a) Write a shell program that checks

|

|

whether a given integer number is an .
Armstrong number or not.

Write short notes on the following with

=6
® an example of each : 2x3
(i) head
(i) cp
(iii) mv
* % *
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